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Y=240 (dx=5.2e-02, do=-2.0e-02)

f=6, X=4042.2

Y=481 (dx=2.0e-02, do=-4.0e-02)

T pfsArm
| ™ (x=4037.60, 0=122)

1 calExp
= (x=4037.65, 0=1.20)

e Residual*s
= Trace

pfsArm
1 = (x=4036.20, 0=1.20)

1 calExp
= (x=4036.22, 0=1.16)

e Residual*5

Y=1204 (dx=8.1e-02, do=-2.9e-02)

Y=1445 (dx=5.0e-02, do=-1.7e-02)

e Residual*5
= Trace

I pfsArm I pfsArm
1 = (x=4034.96, 0=1.20) 1 = (x=4035.36, 0=1.21)
1 calExp - 1 calExp

= (x=4035.04, 0=1.18) = (x=4035.41, 0=1.20)

e Residual*5

1
Y=2168 (dx=4.3e-02, do=-8.5€-03)

1
Y=2409 (dx=6.2e-02, do=-9.7e-02)

e Residual*5
w— Trace

T pfsArm pfsArm
| ™ (x=4038.62,0=122) . | ™ (x=4040.37,0=122)
1 calExp 1 calExp

= (x=4038.66, 0=1.22) = (x=4040.43, 0=1.13)

e Residual*5

Y=3132 (dx=-5.8e-02, do=-6.8e-02)

Y=3373 (dx=-8.9e-02, do=-1.2e-02)

pfsArm
| ™ (x=4047.64, 0=123)

calExp
=== (x=4047.58, 0=1.16)
= Residual*5
= Trace

T pfsArm
| ™ (x=4050.85, 0=124)

calExp
= (x=4050.76, 0=1.23)
e Residual*5
= Trace

4040 4050 4060

4040 4050 4060

Y=722 (dx=3.5e-02, do=-3.0e-02)

pfsArm
= (x=4035.32, 0=121)
- calExp
= (x=4035.36, 0=1.18)
s Residual*5
== Trace

1
Y=1686 (dx=9.5e-02, do=-3.0e-02)

I pfsArm
I = (x=4036.12, 0=1.22)

. 1 calExp
= (x=4036.22, 0=1.19)

e Residual*5
= Trace

Y=2650 (dx=-2.7e+00, do=1.3e+00)

pfsArm
== (x=4045.00, 0=0.00)

calExp
= (x=4042.32, 0=128)
| === Residual*5
= Trace

Y=3614 (dx=-2.5e-01, do=-5.9e-01)

pfsArm
= (x=4054.83, 0=1.82)

calExp
=== (x=4054.58, 0=1.23)
= Residual*5
= Trace

|

|

1

1
-a-HF-tHFF

1

4040 4050 4060 4070

Y=963 (dx=-1.3e-01, do=-3.0e-01)

pfsArm T
= (x=4035.02, 0=1.54)
calExp
= (x=4034.89, 0=1.23)
m— Residual*s
w Trace l
|
|
1
F_ J-4-E
T T L T T
Y=1927 (dx=6.0e-02, do=5.9e-02)
I pfsArm
1 = (x=4037.22, 0=122)
1 calExp
= (x=4037.28, 0=1.28)

e Residual*5
= Trace

Y=2891 (dx=4.5e-02, do=-3.4e-02)

pfsArm

| ™ (x=4044.81,0=123)
1 calExp

m—(x=4044.85, 0=1.20)

e Residual*5

Y=3855 (dx=-2.7e-02, do=5.6e-02)

pfsArm
1 = (x=4058.99, 0=123)

calExp
= (x=4058.96, 0=1.28)
m—Residual*s
- Trace

4050 4060 4070
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Y=240 (dx=2.3e-02, do=1.2e-02)

f=9, X=4023.4

Y=481 (dx=2.1e-02, do=8.5e-03)

T pfsArm
| =™ (x=401873, 0=1.18)

1 calExp
= (x=4018.76, 0=1.19)

e Residual*s
= Trace

T pfsArm
| ™ (x=4017.38,0=118)

1 calExp
= (x=4017.41, 0=1.19)

e Residual*5

1

Y=1204 (dx=2.7e-02, do=2.1e-02) Y=1445 (dx=1.3e-02, do=-3.8e-03)
I pfsArm I fsArm
1 = (x=4016.22, 0=1.18) | ™ (x=4016.63, 0=1.18)
I r— (C:LEIOPIG.ZS, 0=121) I — (C:LE:glﬁ.Gél, 0=1.18)

e Residual*5
= Trace

e Residual*5
= Trace

1
Y=2168 (dx=-3.1e-02, do=3.2e-02) Y=2409 (dx=-1.1e-02, do=4.7e-02)
pfsArm I pfsArm
| ™ (x=4019.90, 0=1.18) | ™ (x=4021.65,0=1.18)
I — ((:LE:()plg.sz 0=121) 1 — ((33521.64, 0=1.23)

e Residual*5
w— Trace

e Residual*5
= Trace

1
Y=3132 (dx=-5.8e-02, do=4.8e-03) Y=3373 (dx=-5.9e-02, do=4.0e-02)
T pfsArm T pfsArm
| = (x=4028.86, 0=1.19) 1 = (x=4032.13, 0=1.19)
1 = (CEI:E:gzs.so, 0=1.19) — ?:3532.08, 0=123)

e Residual*5

e Residual*5
= Trace

4020 4030 4040

4020 4030 4040

Y=722 (dx=1.5e-02, do=-1.0e-02)

T pfsArm
| ™ (x=4016.53,0=1.19)

1 calExp
. = (x=4016.54, 0=1.18)

e Residual*5

Y=1686 (dx=3.9e-02, do=3.9e-02)

pfsArm
| ™ (x=4017.39, 0=122)
calExp
= (x=4017.43, 0=1.26)
= Residual*5
= Trace

pfsArm T
= (x=4023.69, 0=1.19) 1
calExp

m—(x=4023.65, 0=123)
e Residual*5
= Trace

Y=3614 (dx=2.9e+00, do=-1.6e-01)

pfsArm
= (x=4032.78, 0=1.51)

calExp
m—(x=4035.63, 0=1.35)
e Residual*s
= Trace

10 170
1

4020 4030 4040 4050

Y=963 (dx=3.2e+00, do=1.2e+00)

pfsArm
== (x=4013.00, 0=0.00)

calExp
= (x=4016.15, 0=1.19)

e Residual*5
== Trace

Y=1927 (dx=-5.7e-02, do=1.4e-01)

fsArm
= (x=4018.51, 0=1.18)
calExp
= (x=4018.46, 0=1.33)
e Residual*5
= Trace

1
Y=2891 (dx=-4.1e-02, do=-6.7e-03)
T I pfsArm
1 = (x=4026.13, 0=1.19)
1 calExp

m—(x=4026.09, 0=1.18)
e Residual*5
== Trace

Y=3855 (dx=-1.0e-01, do=6.4e-02)

pfsArm
1 = (x=4040.11, 0=1.20)

calExp
= (x=4040.01, 0=1.26)
m—Residual*s

4030 4040 4050
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Y=240 (dx=-9.3e-03, do=-2.4e-02)

f=473, X=1157.3

Y=481 (dx=7.7e-03, do=-3.8e-02)

T pfsArm
| ™ (x=1145.89, 0=1.06)

1 calExp
= (x=1145.88, 0=1.04)

e Residual*s
= Trace

T pfsArm
1 = (x=1148.13, 0=1.05)

1 calExp
= (x=1148.14, 0=1.02)

e Residual*5
== Trace

1
Y=1204 (dx=5.4e-03, do=4.4e-03)

Y=1445 (dx=1.9e-03, do=2.8e-02)

I pfsArm I pfsArm
| = (x=1153.64, 0=1.06) 1 = (x=1155.21, 0=1.07)
1 calExp 1 calExp

= (x=1153.64, 0=1.07) = (x=1155.21, 0=1.09)

e Residual*5
= Trace

e Residual*5
= Trace

1 1

Y=2168 (dx=-1.5e-03, do=5.2e-05) Y=2409 (dx=-1.7e-02, do=2.3e-02)
I pfsArm I pfsArm
1 = (x=1159.25, 0=1.09) | ™ (x=1160.40, 0=1.09)
1 — ((:I=E1le_’:9.25, 0=1.09) 1 [ ((:LE;fso.zg, 0=1.11)

e Residual*5

e Residual*5
= Trace

Y=722 (dx=4.2e-03, do=1.3e-03)

- pfsArm
1 == (x=1150.14, 0=1.05)
1 calExp

= (x=1150.14, 0=1.05)

e Residual*5

== Trace

Y=1686 (dx=-2.4e-02, do=-1.5e-03)

I pfsArm
| ™ (x=1156.64, 0=1.08)

1 calExp
= (x=1156.62, 0=1.07)
= Residual*5
== Trace

Y=2650 (dx=-2.7e-02, do=7.1e-02)

pfsArm
| ™ (x=1161.46, 0=1.09)
1 calExp
- = (x=1161.43, 0=1.16)

e Residual*s
== Trace

Y=963 (dx=-7.4e-03, do=-3.9e-03)

T pfsArm
| ™ (x=1151.94, 0=1.06)
1 calExp
= (x=1151.94, 0=1.05)
m—_Residual*5
== Trace

1
Y=1927 (dx=9.1e-03, do=2.1e-02)
7 I fsArm
| ™ (x=1157.97, 0=1.09)
I — F)?‘:E;{)SIQB,U:LH)

e Residual*5
= Trace

Y=2891 (dx=1.1e-02, do=1.1e-02)

pfsArm
. I = (x=1162.40,0=1.09)
1 calExp

— (x=1162.41, 0=1.10)
e Residual*5
== Trace

Y=3132 (dx=-2.2€-02, do=1.6e-02)

Y=3373 (dx=3.5€-02, do=-4.6e-02)

pfsArm
1 = (x=1163.21, 0=1.10)

calExp
= (x=1163.19, 0=1.11)
= Residual*5

T pfsArm
| ™ (x=1163.86, 0=1.10)

calExp

(x=1163.90, 0=1.05)
e Residual*5
= Trace

1150 1160 1170

1150 1160 1170

Y=3614 (dx=-7.0e-02, do=6.7e-02)

T pfsArm
| ™ x=1164.37,0=1.10)

calExp
= (x=1164.30, 0=1.16)
= Residual*5
- Trace

PEr

1150 1160 1170 1180

Y=3855 (dx=2.1e-02, do=7.7e-02)

pfsArm

| ™ (x=1164.64, 0=1.11)
calExp

= (x=1164.66, 0=1.18)

- e Residual*5
== Trace

=

1150 1160 1170 1180
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Y=240 (dx=2.5e-02, do=4.1e-02)

f=616, X=271.6

Y=481 (dx=-5.7e-03, do=1.6e-02)

pfsArm pfsArm
1 = (x=257.36, 0=1.13) 1 = (x=261.02, 0=1.13)
1 calExp T 1 calExp
= (x=257.39, 0=1.17) = (x=261.02, 0=1.14)

e Residual*5

e Residual*s
= Trace

Y=1204 (dx=3.3e-03, do=3.4e-02)

Y=1445 (dx=1.3e-02, do=3.9e-02)

I pfsArm T I pfsArm
1 = (x=269.28, 0=1.13) 1 = (x=271.33, 0=1.14)
1 calExp 1 calExp

— (x=269.28, 0=1.17) = (x=271.34, 0=1.18)

e Residual*5
= Trace

e Residual*5
= Trace

1 1

Y=2168 (dx=-3.2e-02, do=7.7e-02) Y=2409 (dx=-2.2e-02, do=1.0e-01)
I pfsArm I pfsArm
1 = (x=275.76, 0=1.17) 1 = (x=276.72, 0=1.18)
1 e (C:‘:E;;)sja, 0=1.25) 1 [ (C;‘:E;;)e 69, 0=1.29)

e Residual*5
== Trace

e Residual*5
. = Trace

Y=3132 (dx=1.2e-02, do=1.6e-02) Y=3373 (dx=2.6e-02, do=4.5e-02)
T pfsArm T pfsArm
1 = (x=277.82, 0=1.19) 1 — (x=277.52, 0=1.19)
1 = (?3797.83, 0=1.21) [ — fflezx%.ss, 0=1.24)

= Residual*5
== Trace

= Residual*5

270 280 290

270 280 290

Y=722 (dx=1.1e-02, do=8.6e-03)

pfsArm
1 = (x=264.18, 0=1.13)
N 1 calExp

= (x=264.19, 0=1.14)
e Residual*s
== Trace

pfsArm
_ | ™ (x=266.89, 0=1.14)

1
Y=1686 (dx=-1.3e-02, do=6.7e-02)
T
1 = ?;i/;rg.og, 0=1.15)
1 o calexp
(x=273.07, 0=1.22)

e Residual*5

1
Y=2650 (dx=7.9e-03, do=8.6e-02)

pfsArm
1 = (x=277.41, 0=1.18)
1 calExp

—(x=277.42, 0=1.27)
= Residual*5

pfsArm
1 = (x=277.78, 0=1.19)
calExp
= (x=277.78, 0=1.28)
= Residual*5
= Trace
- —r

Y=3614 (dx=4.0e-02, do=6.9e-02)

T pfsArm
1 = (x=276.76, 0=1.20)
| calExp

= (x=276.80, 0=1.27)

e Residual*5

260 270 280 290

Y=963 (dx=-9.6e-04, do=2.1e-02)
T

1 calExp
= (x=266.89, 0=1.16)

e Residual*5
== Trace

1

Y=1927 (dx=-2.2e-02, do=1.1e-01)
T
1 = ?:igr%.ss, 0=1.16)

calExp
— (x=274.54,0=127)
= Residual*5

== Trace

Y=2891 (dx=5.9e-03, d0=9.4e-02)

Y=3855 (dx=-9.2e-02, do=1.2e-01)

T pfsArm
1 = (x=275.57, 0=1.18)
| calExp

= (x=275.48, 0=1.30)

e Residual*5

260 270 280 290
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Y=240 (dx=-1.9e-01, do=1.5e-01)

f=623, X=228.1

Y=481 (dx=2.8e-02, do=1.1e-01)

7| == Residual*s

pfsArm T pfsArm T
= (x=213.56, 0=1.18) 1 = (x=217.33, 0=1.16) 1
calExp 1 calExp 1

= (x=213.38, 0=1.34)

== Trace

— (x=217.36, 0=127)
— Residual*s
w | Trace

Y=1445 (dx=-7.3e-03, do=7.2e-02)

pfsArm I pfsArm I
= (x=225.69, 0=1.27) 1 | = (x=227.79, 0=1.24) 1

calExp 1 calExp 1
= (x=225.63, 0=1.35) = (x=227.78, 0=1.31)

= Residual*5
= Trace

= Residual*5
= Trace

Y=2168 (dx=-9.4e-02, do=1.4e-01)

Y=2409 (dx=-2.8e-01, do=3.0e-01)

pfsArm I pfsArm I
= (x=232.33,0=122) 1 = (x=23328,0=121) 1

calExp 1 calExp 1
m—(x=232.24, 0=1.37) m—(x=233.00, 0=1.52)

= Residual*5
w— Trace

e Residual*5
w— | Trace

= ™ (x=233.65, 0=1.53)

Y=3132 (dx=1.6e+00, do=-6.6e-01)

T pfsArm pfsArm T
1 = (x=23273, 0=1.99) = (x=233.75, 0=1.36) 1
| calExp calExp
= (x=234.36, 0=1.33) = (x=233.51, 0=1.60)
I e Residual*5 | == Residual*5
1 - Trace - Trace
b e e e e

220 230 240 250

220 230 240

Y=722 (dx=-7.1e-02, do=2.6e-02)

pfsArm T
= (x=220.52, 0=121) 1
calExp 1

= (x=220.45, 0=1.23)
wm— Residual*s
== Trace

Y=963 (dx=1.8e-02, do=1.0e-01)

Y=1686 (dx=2.2e+00, do=-5.3e-01)

pfsArm
= (x=223.36, 0=1.17) 1

calExp
= (x=223.38, 0=1.27)
e Residual*5
== Trace

I pfsAr-m-
1 = (x=227.21, 0=1.80)
1  calExp

(x=229.45, 0=1.27)
I = Residual*s
1
1
1
1

w— | Trace

-———
1

Y=2650 (dx=-1.8e-01, do=2.3e-01)

pfsArm I
= (x=233.82, 0=1.30) 1
calExp 1

e Residual*5
= Trace

Y=3614 (dx=4.3e-02, do=1.0e-01)

pfsArm T
= (x=233.11, 0=1.24) 1

calExp
= (x=233.15, 0=1.34)
= Residual*5
= Trace

1
Y=1927 (dx=6.7e-02, do=1.0e-01)
T
= ?:i§r$.14, 0=1.19) 1
calExp 1
m—(x=231.21, 0=1.29)

| === Residual*5

= Trace

- - = =

Y=2891 (dx=7.1e-02, do=-3.8e-02)

pfsArm I

| = (x=23429,0=122) 1

calExp 1
m—(x=234.36, 0=1.19)

e Residual*5
== Trace

Y=3855 (dx=-1.4e-01, do=2.1e-01)

== Trace

220 230 240

pfsArm
= (x=231.68, 0=1.30)

calExp
= (x=231.54, 0=1.51)
= Residual*5

220 230 240
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Y=240 (dx=-2.3e-01, do=4.3e-01)

f=624, X=221.9

Y=481 (dx=-2.1e-01, do=2.0e-01)

[

pfsArm pfsArm
= (x=207.35, 0=1.21) = (x=211.14, 0=121) 1

calExp calExp 1
= (x=207.12, 0=1.64) = (x=210.93, 0=1.41)
m— Residual*s i s Residual*s
| Trace B | Trace

-
T

1 T T T |
Y=1204 (dx=-4.2e-03, do=1.5e-01) Y=1445 (dx=-3.8e-02, do=5.0e-02)
pfsArm T pfsArm
= (x=219.51, 0=1.25) 1 = (x=221.63, 0=1.23)
calExp 1 calExp
= (x=219.51, 0=1.40) = (x=221.59, 0=1.28)
= Residual*5 = Residual*5
w | Trace = Trace

Ir

pfsArm
= (x=226.16, 0=1.24)

calExp
m—(x=226.32, 0=1.44)
= Residual*5

w— Trace

- (x=227.12, 0=125)

p
—(x=227.29, 0=1.71)

pfsArm
calExj

Residual*5
Trace

Y=3132 (dx=1.8e-01, do

=5.7e-0

Y=3373 (dx=-4.0e-01,

pfsArm
| = (x=228.08, 0=1.20)

calExp
= (x=228.26, 0=1.25)
e Residual*5
= Trace

At

1
1
1
1%
T
= |

= (x=227.60, 0=1.30)

p
= (x=227.20, 0=1.80)

pfsArm
calEx

Residual*5
Trace

|

220

230

240

220

230

240

Y=722 (dx=7.6e-02, do=-3.9e-02)

- pfsArm
= (x=214.32, 0=121)

calExp
= (x=214.40, 0=1.17)
e Residual*5
= Trace

J

i

Y=1686 (dx=-3.2e-03, do=8.2e-02)

pfsArm

(x=223.38, 0=1.23)

calExp
(x=223.38, 0=1.31)

Residual*5

© L

pfsArm T
= (x=227.68, 0=127) 1
- calExp 1

(x=227.64, 0=1.67)
e Residual*5
= Trace

Y=3614 (dx=-3.8e-01, do=4.2e-01)

pfsArm

= (x=226.73, 0=1.32)
calExp

—(x=226.36, 0=1.73)

me= Residual*5

o == Trace

|

210 220 230

240

Y=963 (dx=8.2e-02, do=2.0e-01)

e Residual*5
== Trace

- pfsArm T
= (x=217.18, 0=1.20) 1
calExp 1

= (x=217.26, 0=1.40)

Y=1927 (dx=1.9e-01, do=-2.5€-02)

. pfsArm
== (x=225.01, 0=1.25)

e Residual*5
= Trace

calExp
— (x=225.19, 0=1.22)

pfsArm
calExj

e Residual*5

= (x=228.13, 0=127)

p
= (x=228.00, 0=1.55)

1
Y=2891 (dx=-1.3e-01, do=2.8e-01)
T
I
1

- Trace
n T

Y=3855 (dx=-1.0e-01, do=4.3e-01)
- pfsArm B

= (x=225.47, 0=1.28) 1

calExp

= (x=225.37, 0=1.71)

mm—= Residual*5

w—  Trace
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Y=240 (dx=-9.3e-02, do=4.6e-01)

f=627, X=203.2

Y=481 (dx=-3.4e-02, do=3.7e-01)

=
T pfsArm

1 = (x=188.41, 0=130)
calExp

= (x=188.31, 0=175)

e Residual*5

-ﬁ u— Trace

pfsArm
= (x=192.26, 0=1.23)

calExp
= x= 19223 0=1.61)
— Residual*5

== Trace

i

Y=722 (dx=-1.7e-01, do=7.5e-02)

L
Y=1204 (dx=7.1e-02, do=9.3e-02)

Y=1445 (dx= 8.1e- 02, do= 3.7e- 01)

pfsArm
1 = (x=195.49, 0=129)
1 calExp
- = 195 32,0=1.37)
s Residual*s
= Trace
— —— I —

pfsArm I I pfsArm
= (x=200.67, 0=1.41) 1 1 = (x=202.98, 0=1.20)
calExp _ calExj
= (x=200.74, 0=150) _(x= 203 06, 0=1.58)
= Residual*5 I = Residual*5
= == Trace L = Trace
=
=
=i
-y
- — - - -

Y=1686 (dx=-6.6e-02, do=1.5e-01)

Y=2168 (dx=8.7e-02, do=6.5e-02)

r p—
Y=2409 (dx=1.1e-02, do=-3.6e-01)

pfsArm
| ™ (x=204.57,0=1.40)

1 calExp
= (x=204.50, 0=1.55)

= Residual*5

= Trace

- pfsArm
= (x=207.39, 0=1.31) 1

calExp
= (x=207.48, 0=1.38)

= Residual*5

5]

pfsArm

= (x=208.84, 0=2.00)
calExp

= (x=208.85, 0=1.64)

= Residual*5

1
Y=2650 (dx=7.3e-02, do=5.4e-01)

—-l Trace w— | Trace
1
4 -—=- - -
T I T T
Y=3132 (dx=-2.6e-01, do=4.6e-01) Y=3373 (dx=-3.1e-01, do=3.2e-01)

(x=209.11, 0=1.80)

|

| T ¥
} e Residual*5

= Trace

|

1

1

T

T pfsArm
= (x=209.03, 0=125)
calExp

r

pfsArm
= (x=209.28, 0=1.31)

calExp
(x=209.01, 0=1.77)
e Residual*s

pfsArm
= (x=208.52, 0=1.61)

calExp
= (x=208.21, 0=1.93)
= Residual*5
= Trace

Y=3614 (dx=-3.9e-01, do=4.1e-01)

pfsArm
== (x=208.04, 0=128)

|

calExp
m—(x=207.65, 0=1.69)
e Residual*5
= Trace

200 210 220

Y=963 (dx=-1.3e-01, do=1.6e-01)

pfsArm
= (x=198.36, 0=1.26)

calExp
_ = 19822 0=1.42)
e Residual*s
== Trace

fsA
— (x 206.19, 0=1.28)

=I

calExp
= (x=206.43, 0=1.74)

- e Residual*5
= Trace
F | :

2891 (dx=-2.1e-01, do=3.7e-01)

pfsArm
= (x=209.30, 0=1.30)

calExp
= (x=209.09, 0=1.66)
= Residual*5
- Trace

Y=3855 (dx=-5.0e-01, do=1.2e-01)

. T pfsArm

I = (x=206.49, 0=1.43)
calExp

= (x=205.99, 0=1.55)

mmm= Residual*s

== Trace
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Y=240 (dx=-3.4e-01, do=3.8e-01)

=628, X=196.9

Y=481 (dx=4.4e-02, do=1.5e-01)

pfsArm T LL pfsArm T
= (x=182.33, 0=1.16) 1 = (x=186.16, 0=1.16) 1
calExp calExp 1

= (x=181.99, 0=1.55)
— Residual*s
== Trace

g

- = (x=186.20, 0=1.30)
e Residual*s
= Trace

Y=1204 (dx=-6.4e-02, do=1.8e-01)

Y=1445 (dx=-2.8e-01, do=3.7e-01)

pfsArm I - I pfsArm

= (x=194.68, 0=1.24) 1 1 = (x=196.79, 0=1.22)
calExp calExp

= (x=194.61, 0=1.42)

= Residual*5
= Trace

= (x=196.52, 0=1.59)
e Residual*5

Y=722 (dx=2.8e-03, do=1.0e-01)

pfsArm
1 = (x=189.41, 0=121)

calExp
= (x=189.41, 0=1.31)
e Residual*s
= Trace

Y=1686 (dx=-6.6e-02, do=1.3e-01)

1
Y=2168 (dx=-1.3e-01, do=1.0e-01)

pfsArm I
= (x=198.56, 0=1.28) 1
calExp 1
= (x=198.49, 0=1.41)
= Residual*5
= Trace

pfsArm I pfsArm I
= (x=201.35,0=1.22) 1 = (x=205.00, 0=0.00)
calExp 1 calEx|

(x=201.22, 0=1.32)
_| = Residual*5
w— | Trace

m—(x=199.76, 0=1.54)
| === Residual*5
w— Trace

Y=963 (dx=1.3e-01, do=9.9e-03)

pfsArm
1 = (x=192.29, 0=1.16)
1 calExp

- (x=192.42, 0=1.17)
m— Residual*s

Y=1927 (dx=2.6e-02, do=2.4e-01)

T pfsArm
1 === (x=200.15, 0=1.18)
1 calExp

= (x=200.17, 0=1.43)
= Residual*5
== Trace

- = (x=202.61, 0=1.67)

pfsArm
= (x=202.82, 0=129)

calExp

e Residual*5
= Trace

Y=3614 (dx=-1.2e-01, do=2.4e-01)

pfsArm
= (x=203.25, 0=122)

calExp
= (x=203.09, 0=1.62)
= Residual*5

= Trace

1
Y=3132 (dx=1.5e-01, do=3.7e-01) Y=3373 (dx=7.9e-02, do=-8.4e-02)
pfsArm T pfsArm T
m—(x=203.22, 0=1.22) 1 m—(x=202.69, 0=1.29) 1
e calExp | e calExp |
(x=203.36, 0=1.59) (x=202.77, 0=1.20)
= Residual*5 = Residual*5
| = Trace = == Trace
¢
] 1
|' I
T T

pfsArm

= (x=201.78, 0=131)
calExp

= (x=201.66, 0=1.55)

= Residual*5

= Trace
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pfsArm
= (x=200.48, 0=1.25)

calExp
(x=199.83, 0=1.77)
= Residual*5
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f=629, X=190.8

Y=240 (dx=-1.2e-01, do=7.3e-01) Y=481 (dx=-3.5e-01, do=2.5e-01) Y=722 (dx=4.8e-02, do=8.1e-02) Y=963 (dx=-2.1e-01, do=2.8e-01)
T T T =~ T
1 u “m | | lJ E rIJ H LI 1 mui ?Isqr?a 27, 0=1.16) 1 ™ F?Af?a 06, 0=1.38)
| ﬂ = (CflElsa 32, 0=124) 7 [ (CflElss 85, 0=1.66)
o PFSATM | e PfSAM m— Residual*5 e Residual*5
_J—ﬂ (xe176.11, 0=127) (x=179.44, 0=1.66) | L Gl
[ — s, 52001 — 0010, 0m1.92) H E - E EI
1 I we— Residual*s = Residual*5
1 - Trace - Trace ]
1.I' 1 = -
[ P _..I. Y S—— JH I O R - -— - e . . S T ] R X
Y=1204 (dx=-6.5e-02,| do=3.4e-01) Y=1445 (dx=-1.6e-01, do=6.6e-01) Y=1686 (dx=1.1e-01, do=1.1e-01) Y=1927 (dx=5.9e-01, do=1.5e-01)
T = K T —r — 4 T u)
I (;5A188 46, 0=1.33) 1 I_ e ?JSA{{;?) 29, 0=1.59) J 1 - ?:iﬁrg.Ao, 0=129) | | JJ u-l _ 1 - =
-, f::Elxga‘zs, 0=1.67) = e (C:‘ 190,13, 0=2.25) - (Cflggz,n, 0=1:40) :
- :esiduaws 1 - T — :esldual 5 10 = ?esm“a‘*s 1= F:ir;"lgs, o=1.40) | LI I
- 1 1 = (c:g(;a.se, 0=1.55) |- '.I.
T - 7| m—Residual*s a
i = Trace ™ 1
T T -q T r T 1
Y=2168 (dx=-1.3e-01, do=4.5e-01) Y=2409 (dx=5.6e+00, do=1.2e+00) Y=2650 (dx—-5 Oe-01, do=4.4e-01) Y=2891 (dx=1.1e-01, d0—6 9e- 01)
T T T
I ?IiAlr;u, 0=1.33) 1 1 I- - 1 ™ F:iqr;"ma, 0=1.47)
I (C:f{(;s.os, 0=178) ] : | 1 | "y (c:|=E1X9p7.15, 0=2.16)
_I' [ ?:Ci:ual*s — D155.00, 0=0.00 1 . - 1 ?: o2, 0=156) - -I- [ 'Tz:Cigual*s
/|- 'CSLEIXQpS.SQ, 0=1.18) I j e ;:SIEIQS 92, 0=2.01) 7 1 I -u-
J- e Residual*5 I = Residual*5 B
w | Trace I - Trace a1 =
1 (=]
T T T T 1 T T T T 1 T
Y=3132 (dX=-8.2e 02, do 7.6e- 01) Y=3373 (dx=-1.4e+00, do=-9.2e-01) Y=3614 (dx=-5.6e-01, do=5.8e-01) Y=3855 (dx=-8.0e- 02, do=9.0e-01)
! 1 — gsﬁr;s 99, 0=1.47) = FX'S’YQT-, 35, 0=1.50) H J T = F:s:qr;"mo, 0=1.53) I ] » T ﬁ T | |'| t
L - rf‘EIQG 91, 0=223) 1= |cxal 194.96, 0=0.58) e (cxaflxgpa.sa 0=2.12) L -
e Residual*5 = Residual*5 = Residual*5 -1 . | - pfsArm
- I - Trace - Trace - Trace L - “1'MT -F0
'[ I |L 11| L : T | [L [ - zrell ol
= 7] 1 1L - 7 s Residual*s
B - " | — Trace
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Y=240 (dx=-4.7e-02, do=2.1e-01)

f=631, X=178.2

Y=481 (dx=-1.1e-02, do=9.2e-02)

Y=722 (dx=3.2e+00, do=7.7e-01)

Y=963 (dx=-5.4e-02, do=8.6e-02)

pfsArm pfsArm
1 = (x=163.48, 0=1.15) 1 = (x=167.34, 0=1.13)
1 calExp 1 calExp

= (x=163.43, 0=1.37)
m— Residual*5

= (x=167.33, 0=1.23)
e Residual*s
w | Trace

pfsArm
= (x=167.46, 0=0.50)

calExp
= (x=170.62, 0=127)
== Residual*5

i

pfsArm
1 == (x=173.53, 0=1.16)
1 calExp

= (x=173.47, 0=125)
m— Residual*s

Y=1686 (dx=-1.2e-01, do=1.4e-01)

1
Y=1204 (dx=8.2e-03, do=3.4e-02) Y=1445 (dx=1.2e-02, do=5.8e-02)
I pfsArm I pfsArm
1 = (x=176.03, 0=1.16) 1 = (x=178.14, 0=1.16)
I = (C;\:E1x7p6‘04’ 0=1.19) 1 — 1C>?I=E1X7p&15, 0=122)

e Residual*5
= Trace

e Residual*5
= Trace

pfsArm
| = (x=179.87, 0=123)
calExp
= (x=179.75, 0=1.37)
= Residual*5
= Trace

pfsArm
= (x=181.45, 0=1.17)

calExp
= (x=181.46, 0=1.37)
= Residual*5

Y=2168 (dx=-7.1e-02, do=1.5e-01)

Y=2409 (dx=-3.9e-02, do=1.8e-01)

Y=2891 (dx=-6.1e-02, do=1.5e-01)

e Residual*5
= Trace

I pfsArm I pfsArm
1 = (x=182.66, 0=1.17) 1 = (x=183.55, 0=123)
1 calEx 1 calExp

= (x=182.59, 0=1.32) = (x=183.51, 0=1.41)

= Residual*5
w— Trace

|
Y=2650 (dx=1.3e-01, do=1.5e-01)
T
1 = F:iAlrgl.Zl,0=l.20)
1 calExp

m—(x=184.34, 0=1.34)
= Residual*5
| Trace

pfsArm

1 = (x=184.49, 0=123)
1 calExp

—(x=184.42, 0=1.37)

e Residual*5

Y=3614 (dx=-8.2e-02, do=9.9e-02)

Y=3855 (dx=-2.8e-01, do=3.1e-01)

Y=3132 (dx=-5.3e-02, do=2.2e-02) Y=3373 (dx=-6.6e-02, do=2.0e-01)
T pfsArm pfsArm T
1 = (x=184.44, 0=122) = (x=183.89, 0=127) 1
| calExp calExp |

= (x=184.39, 0=1.24)
m—Residual*5

= (x=183.82, 0=1.47)
= Residual*5
= Trace

T pfsArm
1 = (x=183.09, 0=121)
| calExp
= (x=183.01, 0=1.31)
= Residual*5
= Trace

T pfsArm
1 = (x=181.61, 0=125)

calExp
= (x=181.33, 0=1.56)
e Residual*s
w Trace
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Y=240 (dx=-5.2e-02, do=5.6e-01)

Y=481 (dx=-6.2e-01, do=-4.2e-01)

f=632, X=171.9

Y=722

(dx=1.6e+00, do=-6.6e-01)

lJ

pfsArm
= (x=157.19, 0=1.30)

calExp
= (x=157.14, 0=1.86)
s Residual*s
== Trace

= H——

pfsArm
= (x=161.69,

calExp
- (x=161.07,

e Residual*s

= Trace

0=1.94)

0=1.52)

1
-1=-11--11- i
I

|

pfsArm
= (x=162.84, 0=1.97)

calExp
= (x=164.45, 0=1.31)
— Residual*s

== Trace

1
-

Y=1204 (dx=-1.2e-01, do=2.1e-01)

Y=1445 (dx=-9.7e-02, do=9.2e-02)

Y=168

1
6 (dx=1.8e-01, do=2.2e-01)

= Trace

e =
1
I
T

= Trace -

i pfs/-krm J I i pfsArm J
1 == (x=169.44, 0=1.55) 1 = (x=171.33, 0=174)
calEx calEx . I'L
- (x= 169 32, 0=1.76) - (x= 171 24, 0=1.83) —
fsAl
e Residual*5 i e Residual*s ) ;’xi{;"lm} 5=153)
== Trace - = Trace
™ calExp
1 . m—(x=173.59, 0=1.75)
1 = | m— Residual*s
=
- w1 Trace
L1 - 1 T r-e-rieer {HEE-- __HH"H'LIJ.
T T T 1
Y=2168 (dx=-6.5e-01, do=-2.7e-01) Y=2409 (dx=-2.3e-01, do=2.6e-01) Y=2650 (dx—-3 7e-01, do=1.9e- 01)
pfsArm I pfsArm n pfsArm
= (x=176.66, 0=1.91) I = (x=177.23, 0=1.40) = (x=177.50, 0=1.67)
calEx 1 calExp calExp
m—(x=176.01, 0=1.64) - m—(x=177.00, 0=1.66) m—(x=177.12, 0=1.86)
= Residual*5 I = Residual*5 == Residual*5

= Trace

-
L

Y=3614 (dx=

pfsArm
= (x=178.15, 0=1.41)

calExp
= (x=177.90, 0=1.87)
e Residual*5
= Trace

T
, =2.4e-
pfsArm
= (x=177.36, 0=1.60)
calExp
- (x= 177, 32,0=1.84)
pfsArm

== Residual*5 -

= Trace
calExp.

= Trace

== (x=176.48, 0=1.56)

- (x= 17627 0=2.02)
m—Residual*5
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Y=963 (dx=-1.6e-02, do=2.7e-01)

T pfsArm
1 = (x=167.23, 0=1.34)

calExp
= (x=167.22, 0=1.61)
e Residual*s
= Trace

- pfsArm

= (x=175.69, 0=1.93)

calExp
- (x=174.73, 0=1.70)
= Residual*5

== Trace

RIS

pfsArm
= (x=178.21, 0=1.37)

calExp
m—(x=178.54, 0=1.31)
e Residual*5
= Trace

pfsArm
= (x=175.29, 0=1.35)

calExp

(x=174.95, 0=1.79)
mmm Residual*s
= Trace
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Y=240 (dx=-1.8e-01, do=1.5e-01)

f=633, X=165.6

Y=481 (dx=nan, do=nan)

pfsArm
= (x=150.74, 0=1.36) 1

calExp
- = (x=150.56, 0=1.52)
w— Residual*s
= Trace

pfsArm
=== (x=nan, o=nan)

calExp
=== (x=154.65, 0=1.36)
e Residual*5

w— Trace

Y=722 (dx=1.7e-02, do=1.0e-01)

Y=1445 (dx=-1.5e-02, do=5.0e-02)

pfsArm
1 = (x=158.17,0=1.13)

calExp
= (x=158.18, 0=1.24)

wm— Residual*s

I pfsArm
1 = (x=163.48, 0=123)

calExp
= (x=163.54, 0=1.30)

e Residual*5

pfsArm
1 = (x=165.57, 0=129)

1 calExp
= (x=165.55, 0=1.34)

= Residual*5

= Trace

Y=1686 (dx=-5.4e-02, do=1.7e-01)

Y=963 (dx=-3.3e-02, do=1.1e-01)

pfsArm
1 = (x=161.06, 0=1.18)
1 calExp

= (x=161.02, 0=1.29)
e Residual*5
== Trace

Y=1927 (dx=nan, do=nan)

Y=2168 (dx=-3.3e+00, do=1.6e+00

)

Y=2409 (dx=-1.4e-01, do=1.6e-01)

I pfsArm
1 = (x=167.43, 0=124)

calExp
= (x=167.38, 0=1.42)
= Residual*5S

= Trace

calExp
- ™ (x=168.61, 0=1.53)

pfsArm
=== (x=nan, o=nan)

e Residual*5
= Trace

pfsArm
= (x=173.00, 0=0.00)

calExp
- ™ (x=169.69, 0=1.58)
= Residual*5
w— Trace

pfsArm
= (x=171.09, 0=1.26)

calExp
m—(x=170.95, 0=1.42)
e Residual*5

w— Trace

Y=2650 (dx=-3.8e-01, do=2.9e-01)

Y=3132 (dx=-1.2€-01, do=7.8e-02)

T pfsArm
1 = (x=171.58, 0=1.37)
B
calExp
= (x=171.20, 0=1.66)
e Residual*5
- Trace
B
-
-
e
L
-— - - —J - -

T pfsArm
E I ™ (x=171.68, 0=148)
| calExp
—(x=17155, 0=156)
e Residual*s
- Trace

pfsArm T J
= (x=171.49, 0=120)

calExp
= (x=171.32, 0=1.52)

= Residual*5
= Trace

Y=3614 (dx=-1.3e-01, do=4.6e-01)

== Trace
] 1
1
I- 1
— - 1 —
| 1
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7| == Residual*s
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= (x=170.54, 0=1.20) 1

L |

calExp
m—(x=170.41, 0=1.65)

== Trace
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| calExp
- = (x=168.99, 0=1.66)
= Residual*5
w Trace
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-
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I pfsArm
1 = (x=172.03, 0=124)
1 calExp

= (x=171.93, 0=1.18)

me Residual*5
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Y=240 (dx=-1.8e-01, do=2.3e-01)

f=634, X=159.4

Y=481 (dx=3.0e+00, do=9.7e-01)

pfsArm
== (x=145.45, 0=0.50)

calEx
_(x= 148 43, 0=1.47)

e Residual*5
= Trace

] -

. pfsArm
1 = (x=144.49, 0=1.40)
| calExp
_(x= 144 31, 0=1.63)
== Residual*5
== Trace
o - -
T

Y=1204 (dx=-1.9e-01, do=1.8e-01)

Y=1445 (dx=-1.5e-02, do=-6.8e-03)

! T 9 t T pfsArm
1 1 = (x=159.33, 0=1.37)
1 1 calEx
— (19932, 0=1.36)
1= F:5=A157.36, 0=1.18) P m—Residual*5

calExp
m—(x=157.17, 0=1.36)
= Residual*5

w= | Trace

w= Trace

Y=2168 (dx=3.2e+00, do=1.3e+00)

Y=2409 (dx=-5.6e-02, do=-9.4e-02)

T (x 150 47, 0=0.50)

calE:
1= (x:163 66, 0=1.78)
e Residual*5
w  Trace

pfsArm
| ™ (x=164.48, 0=1.64)

T 1 calExp
m—(x=164.43, 0=1.55)

= Residual*5
w— | Trace

i/

(i

Y=3373 (dx=-5.7e-01, do=-4.6e-01)

pfsArm
1 = (x=165.47, 0=1.52)

calEx|
- x= 16523 0=1.66)
=== Residual*5
== Trace

pfsArm
= (x=165.76, 0=1.97)

calEx

4= x= 15519 0=1.51)
= Residual*5

- Trace
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Y=722 (dx=-3.5e-01, do=-1.9e-02)

pfsArm T
= (x=151.95, 0=1.61) 1
calExp
_ = 15160 0=1.59)
= Residual*5
== Trace l
|
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1
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1

Y=963 (dx=-1.1e-01, do=1.0e-01)

pfsArm
| ™ (x=154.54,0=151)

calExp
= (x=154.43, 0=1.61)
= Residual*s
== Trace

Y=1927 ('dx=nan, d('7=nan)

Y=1686 (dx=1.2e-01, do=1.5e-01)

d

pfsArm
= (x=161.22, 0=1.31)

calE:
_(x= 161 33, 0=1.46)
mmm= Residual*5
= Trace

i

pfsArm
=== (x=nan, o=nan)

calExp
= (x=162.36, 0=1.60)
m— Residual*5
== Trace

=-1.5e-02, do=2.9e- 01)

T pfsArm
1 = (x=165.34, 0=1.45)

calExp
== (x=165.33, 0=1.74)
=== Residual*5
= Trace

Y=3614 (dx=-8.8e-01, do=-2.7e-01)

pfsArm
- (x=164.75, 0=1.97)
calEx
- (x= 153 87, 0=1.70)
= Residual*5
- Trace
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Y=2891 (dx=1.6e-02, do=7.3e-03)

pfsArm
| ™ (x=16553,0=153)

calExp
== (x=165.55, 0=1.54)
e Residual*s
= Trace
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calExp
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= Trace
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Y=240 (dx=-7.3e-02, do=1.8e-01)

f=635, X=153.3

Y=481 (dx=1.5e+00, do=-6.1e-01)

- = (x=138.32, 0=1.51)
— Residual*s
== Trace

pfsArm T
= (x=138.39,0=1.33) 1
calExp 1 T J-

pfsArm
= (x=140.84, 0=1.98)

L

calExp

= (x=142.36, 0=1.37)
= Residual*5

= Trace

] - _I_-.. i __.i_

Y=1204 (dx=-7.4e-01, do=-5.5€-01)

Y=1445 (dx=4.9e-05, do=1.8e-02)

pfsArm
= (x=151.88, 0=1.90)

calExp
= (x=151.13, 0=1.36)

= Residual*5
| == Trace

J

1
-=-
1

pfsArm I
_| = (x=15326,0=1.31) 1
calExp

= (x=153.26, 0=1.33)
e Residual*5
= Trace

Y=2168 (dx=2.4e+00, do=3.3e-01)

Y=2409 (dx=-1.2e-01, do=-6.2e-02)

pfsArm
= (x=154.71, 0=1.50)

calEx|
= (x=157.16, 0=1.83)
= Residual*5
= Trace

Iyl

ll

pfsArm
| = (x=158.44,0=159)

calExp

= (x=158.32, 0=1.53)
= Residual*5

- Trace

Y=3132 (dx=-1

5e-01, do=1.9e-01)

Y=3373 (dx=-2.3e+00, do=-4.9e-01)

= (x=159.20, 0=1.71)
= Residual*5
= Trace

pfsArm T i
| == (x=159.35, 0=1.52) 1
calExp |

pfsArm
= (x=161.30, 0=1.92)

calExp
= (x=159.05, 0=1.43)

= Residual*5
= Trace
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Y=722 (dx=3.1e+00, do=1.0e+00)

pfsArm
= (x=142.46, 0=0.50)

calExp
= (x=145.54, 0=1.55)
— Residual*5
== Trace

Y=963 (dx=1.2e-03, do=8.4e-02)

pfsArm T
= (x=148.43, 0=1.48) 1

- calExp
= (x=148.43, 0=1.56)
m— Residual*s

== Trace

calExp

= (x=155.06, 0=1.35)
e Residual*5

| = Trace

1 1
Y=1686 (dx=-6.1e-02, do=6.2e-02) Y=1927 (dx=nan, do=nan)
pfsArm ¥ i T pfsArm
m—(x=155.12, 0=1.28) 1 = (x=nan, g=nan)

calExp
-1 = (x=156.21, 0=1.68)
= Residual*5

== Trace

Y=2650 (dx=-1.2e-01, do=2.4e-01)

pfsArm T
= (x=159.29, 0=1.38) 1

calExp
m—(x=159.17, 0=1.61)
e Residual*5
= Trace

Y=3614 I(dX=2.3e-01, do=-1.3e+00)

pfsArm
= (x=158.01, 0=3.00)

calExp
= (x=158.24, 0=1.74)
m— Residual*5
= Trace

s
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Y=2891 (dx=-1.7e-01, do=9.1e-02)

pfsArm I
_| = (x=159.31, 0=1.62) 1
calEx|

—(x=159.14, 0=1.71)
e Residual*s
w— Trace

I

Y=3855 (dx=-3.7e-01, do=1.6e-01)

pfsArm —
= (x=156.41, 0=151) 1

calExp
= (x=156.04, 0=1.67)
== Residual*5
- Trace
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Y=240 (dx=1.1e-01, do=4.2e-02)

f=636, X=147.0

Y=481 (dx=3.1e-02, do=5.6e-02)

Y=722 (dx=1.9e+00, do=-7.5e-01)

Y=963 (dx=1.5e-02, do=2.9e-02)

= (x=132.33,0=1.18)
w— Residual*5
== Trace

T pfsArm pfsArm T
1 = (x=132.23,0=1.14) = (x=136.15, 0=1.13) 1
1 calExp calExp

= (x=136.18, 0=1.19)
e Residual*s
w | Trace

IR

pfsArm
= (x=137.65, 0=1.93)

calExp
= (x=139.57, 0=1.18)
== Residual*5

== Trace

i

I Y S ———

T pfsArm
1 = (x=142.45, 0=1.14)
1 calExp

= (x=142.47, 0=1.17)
s Residual*s

Y=1686 (dx=1.1e-02, do=2.2e-02)

Y=1927 (dx=3.0e+00, do=7.7e-01)

= (x=144.94, 0=1.20)
e Residual*5
== Trace

1
Y=1204 (dx=3.5e+00, do=7.0e-01) Y=1445 (dx=-3.1e-02, do=2.1e-02)
pfsArm 1 I pfsArm
= (x=141.44, 0=0.50) 1 = (x=147.12, 0=1.16)
calExp 1 calExp

= (x=147.09, 0=1.18)
= Residual*5
= Trace

pfsArm
| ™ (x=148.90, 0=1.16)
1 calExp

= (x=148.91, 0=1.18)
= Residual*5
= Trace

1
Y=2168 (dx=-2.3e-02, do=6.2e-02)

Y=2409 (dx=-1.2e-01, do=2.4e-02)

Y=2650 (dx=-2.4e-02, do=1.1e-01)

= Residual*5
w— Trace

pfsArm pfsArm
= (x=151.66, 0=1.18) 1 1 = (x=152.52, 0=1.26)
calExp 1 calExp
m—(x=151.63, 0=1.24) —(x=152.40, 0=129)

e Residual*5
= Trace

pfsArm
1 = (x=153.18, 0=1.19)
1 calExp

= (x=153.16, 0=1.30)
= Residual*5

T pfsArm
1 == (x=147.45, 0=0.50)
calExp
1 = (x=150.43, 0=1.27)
= Residual*5
1
1 - Trace
|
|
1
HFH----4
|I T
Y=2891 (dx=-8.7e-02, do=1.4e-01)
T pfsArm
1 = (x=153.45, 0=120)
1 — calExp
(x=153.36, 0=1.34)

e Residual*5

Y=3132 (dx=-4.3e-03, do=1.0e-01)

Y=3855 (dx=-1.2e-01, do=2.6e-01)

= (x=153.36, 0=1.30)
e Residual*s
- Trace

T pfsArm pfsArm
1 = (x=153.36, 0=1.20) = (x=149.82, 0=1.61)
| calExp calExp

= (x=152.74, 0=1.24)

T
|
I
I e Residual*s
|
|
|
1

pfsArm
— (x=148.77, 0=1.52)

calExp
= (x=151.78, 0=1.36)

T
|
I
I e Residual*5
|
|
|
1

T pfsArm
1 = (x=150.38, 0=121)
| calExp

= (x=150.26, 0=1.47)
= Residual*5
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Y=240 (dx=-1.1e+00, do=4.9e-01)

f=637, X=140.8

Y=481 (dx=-6.3e-01, do=4.5e-01)

T pfsArm T J pfsArm
I = (x=125650=152) || = x=129.65 0=1.53)
r -I-I- | I (C:‘Em 53, 0=2.00) d | I f:lEug 02, 0=1.98)
et ] ]. =
|
| [ ==
L] ! !
- —— — - — — — - - — - — I-l- —— — — —
r T T -'r T -II-
Y=1204 (dx=2.3e+00, do=4.5e-01) Y=1445 (dx=-1.9e-01, do—3 3e- 01)

pfsArm
= (x=135.86, 0=1.50)

calEx
- x= 135 18, 0=1.95)
e Residual*5

== Trace

1

pfsArm

= (x=140.57, 0=1.65)

calExp
J— (x= 140 38, 0=1.98)

= Trace

1+

e Residual*s

Y=2168 (dx=

Y=2409 (dx=-7.3e-02, do=6.2e-02)

I

pfsArm
= (x=145.42, 0=1.81)

calExp
= (x=144.70, 0=2.21)

e Residual*5

== Trace
-

pfsArm
= (x=146.25, 0=1.31)

calExp
m—(x=146.17, 0=1.37)
e Residual*5
w— | Trace

i

] ™ (x=147.22, 0=1.53)
calExp

= (x=146.73, 0=2.03)

= Residual*5

[ == Trace

o e

Y=3132 (dx= do=5.0e- 01 Y=3373 (dx=-3.6e-01, do=1.0e+00)
I pfsArH | |1— pfsArm|-|

= (x=146.55, 0=1.19)
calExp

= (x=146.20, 0=2.19)
m— Residual*s

= Trace
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Y=722 (dx=4.8e-02, do=2.3e-01)

pfsArm
= (x=133.20, 0=1.19)

calExp
_ = 135 25, 0=1.42)
e Residual*s
w1 Trace

Y=963 (dx=-3.7e-01, do=2.7e-01)

pfsArm
= (x=136.30, 0=1.55)

calExp
- x= 13593 0=1.82)
e Residual*5
== Trace

ll

Y=2650 (dx=-4.0e-01, do=3.1e-01)

|

pfsArm
= (x=146.72, 0=1.44)

calExp
m—(x=146.32, 0=1.75)
mem= Residual*s

w | Trace

14 (dx=1.2e-01, do=-9.7e-02)

pfsArm

- (x=145.27, 0=1.50)
calExp

= (x=145.38, 0=1.40)

m— Residual*5

= Trace
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P o
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- Trace
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calExp
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f=638, X=134.7

Y=240 (dx=-2.0e-01, do=5.9e-01) Y=481 (dx=-3.4e-01, do=5.1e-01) Y=722 (dx=-6.8e-02, do=2.2e-01) Y=963 (dx=-9.4e-02, do=3.2e-01)
| | || T |-| ”‘] T pfsArm I_ pfsArm
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— PfSATM — PFSATM J- m— Residual*5 e Residual*s
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—Residual*s | = Residuai*s 1 1
T .I- T T T r I—I T T -I T 1
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L pfsArm- I pfsA pfsArm I 1 pfsArrn
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= Trace = Trace - Trace 1 -1 L = Trace
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Y=240 (dx=-1.5e-01, do=2.2e-01)
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Y=481 (dx=-2.8e-01, do=3.4e-01)
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= (x=94.58, 0=121)

calExp
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e Residual*5
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Y=240 (dx=8.1e-02, do=5.7e-01)

f=644, X=97.1

Y=481 (dx=-1.0e-01, do=3.4e-01)

pfsArm
= (x=82.04, 0=1.18)

calExp
- (x=82.12, 0=1.75)
w——Residual*s
== Trace

r

o

pfsArm
= (x=86.07, 0=1.17) 1

calExp
= (x=85.97, 0=1.51)
e Residual*s
= Trace

Y=722 (dx=4.8e-02, do=7.3e-02)

Y=1204 (dx=2.8e-03, do=1.8e-01)

Y=1445 (dx=-8.6e-02, do=3.1e-01)

pfsArm T
= (x=89.50, 0=1.22) 1
calExp 1

= (x=89.55, 0=1.29)
wm— Residual*s
== Trace

Y=963 (dx=-5.7e-02, do=2.4e-01)

pfsArm
= (x=95.12,0=1.18) 1

calExp

(x=95.12, 0=1.35)
7| == Residual*s
= Trace

pfsArm I
= (x=97.30, 0=1.17) 1
calExp

— (x=97.22, 0=1.48)
e Residual*5
= Trace

17

Y=1686 (dx=-1.9e-01, do=1.7e-01)

pfsArm
= (x=92.53, 0=1.18) 1

calExp
- (x=92.47, 0=1.42)

= Residual*5
== Trace

2=i

calExp
T = (x=98.96, 0=1.36)

Y=2168 (dx=-3.4e-02, do=2.8e-01)

Y=2409 (dx=1.1e-02, do=3.9e-01)

pfsArm
= (x=99.15, 0=1.19) 1

e Residual*5
= Trace

| == Residual*5

pfsArm T
= (x=101.82, 0=1.25) 1
calExp
™= (x=101.78, 0=1.54)
=
= Residual*5
= Trace =
-
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pfsArm
= (x=102.73, 0=1.26) B

calExp
m—(x=102.74, 0=1.65)
e Residual*5

w— | Trace

Y=2650 (dx=-3.7e-01, do=4.5e-01)

pfsArm
(x=100.63, 0=1.24)

calExp
= (x=100.67, 0=1.58)

= Trace

Y=3132 (dx=-2.0e-01, do=5.2e-01)

pfsArm I
= (x=103.35, 0=1.23) 1
calExp
= (x=102.98, 0=1.68)
e Residual*5
= Trace
=
=
- - —— =

Y=2891 (dx=-1.6e-01, do=2.7e-01)

pfsArm
= (x=103.41, 0=1.26)

calExp
= (x=103.21, 0=1.78)
= Residual*5
= Trace

pfsArm
- (x=102.72, 0=1.34)

calExp
= (x=10271, 0=1.75)
= Residual*5

= Trace

Y=3614 (dx=4.5e-02, do=1.6e-01)

pfsArm T
= (x=103.59, 0=121) 1

calExp 1
m—(x=103.43, 0=1.48)

= Residual*5

pfsArm T
= (x=101.61, 0=1.39) 1

calExp
= (x=101.66, 0=1.55)
e Residual*5
= Trace

pfsArm
= (x=100.16, 0=1.24)
calExp
= (x=100.42, 0=1.77)
== Residual*5
- Trace
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f=645, X=90.9

Y=240 (dx=-1.6e-01, do=5.6e-01) Y=481 (dx=-5.6e-01, do=5.1e-01) Y=722 (dx=-6.2e-02, do=1.4e-01) Y=963 (dx=-4.5e-01, do=4.3e-01)
J pfsArm I pfsArm pfsArm L pfsArm =
= (x=75.54, 0=1.41) == (x=79.58, 0=1.44) == (x=83.25, 0=1.25) = (x=86.27, 0=1.31)
calEx calEx calExp calExp
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f=646, X=84.7

Y=240 (dx=-2.7e-01, do=4.1e-01) Y=481 (dx=-2.0e-01, do=5.3e-01) Y=722 (dx=4.3e-02, do=1.1e-01) Y=963 (dx=-1.6e-01, do=5.0e-01)
b d | H A k -1 pfsArm T H pfsArm oI
= (x=77.16, 0=124) 1 |7 k=011, 0-139) 1
n = (CflEn 20, 0=1.35) | T (cfl 79.96, 0=1.86) |
—— PFSAMM — " Residual*s e Residual*s
- (x=73.44, 0=1.43) = ke [ |
1N _— =196 1 - U
| o pfsAm m— Residual*s T 1
I (x=69.47, 0=1.33) - Trace 1 1
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Y=1204 (dx=-3.5e-01, do=3.3e-01) Y=1445 (dx=-2.3e-02, do=3.6e- 01) Y=1686 (dx=-5.9e-02, do=3.2e-01) Y=1927 (dx=7.8e-02, do=2.8e-01)
brearm | I |-|_ J T oeam I “Toream | I I: | || ]
== (x=82.51, 0=1.48) 1 = (x=84.03, 0=1.94) = = (x=86.41, 0=1.62) 1 B T
o calExp o calEx — alExp 1
(x=82.15, 0=1.81) (x= o 00, 0=2.30) L (x=86.35, 0=1.94)
m— Residual*s | == Residual*5 ] m—Residual*5 g PFSAIM
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Y=240 (dx=3.2e-02, do=3.2e-01)

f=647, X=78.3

Y=481 (dx=-7.9e-02, do=3.6e-01)

= (x=63.16, 0=1.50)
wm—_ Residual*5
== Trace

pfsArm T pfsArm
= (x=63.13, 0=1.18) 1 = (x=67.20, 0=1.19)
calExp 1 calExp

(x=67.12, 0=1.55)
= Residual*5

Y=1204 (dx=-2.5e-01, do=3.0e-01)

Y=1445 (dx=-8.7e-02, do=2.3e-01)

T pfsArm T pfsArm
1 = (x=76.33, 0=121) 1 = (x=78.50, 0=1.26)
1 calExp 1 calExp

= (x=76.08, 0=1.51) = (x=78.41, 0=1.49)
"} e Residual*5 e Residual*5

w Trace

Y=2409 (dx=-8.2e-02, do=4.9e-01)

pfsArm
= (x=83.16, 0=1.23)

calExp
= (x=83.16, 0=1.64)
7| == Residual*s

= Trace
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wm= Residual*s
== Trace

o L |
= (x=84.07, 0=1.24)
—

Y=3132 (dx=-1.9e-01, do=2.9e-01)

calEx|
Y=3373

pfsArm
1 = (x=84.55, 0=1.34)

calExp

(x=84.35, 0=1.62)
e Residual*5
= Trace

pfsArm
= (x=84.05, 0=125)
calExp
(x=84.06, 0=1.72)
e Residual*5
= Trace

. (x=83p.99, 0=1.73)
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T
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Y=722 (dx=-3.3e-02, do=1.9e-01)

T pfsArm
1 = (x=70.63, 0=1.30)
calExp
= (x=70.60, 0=1.50)

e Residual*5
== Trace

Y=1686 (dx=-2.6e-01, do=2.2e-01)

I pfsArm
1 = (x=80.37, 0=125)
1 calExp

= (x=80.11, 0=1.47)

e Residual*5
= Trace

Y=2650 (dx=-2.4e-01, do=2.8e-01)

I pfsArm
1 = (x=84.50, 0=1.36)
1 calExp

= (x=84.26, 0=1.64)

e Residual*5
== Trace
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| = (x=82.86, 0=1.79)

= L
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- (x=82.74, 0=1.41)
calExp

= Residual*5
= Trace
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1 = (x=73.65, 0=1.31)
1 calExp

= (x=73.45, 0=1.64)
s Residual*s
= Trace

IE

Y=1927 (dx=-1.8e-01, do=1.8e-01)
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= (x=81.71, 0=1.46)

calExp
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= Residual*5

= Trace
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w— Trace
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== Trace
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Y=240 (dx=-1.4e-01, do=4.6e-01)

f=648, X=72.2

Y=481 (dx=-9.8e-03, do=3.8e-01)

pfsArm
= (x=56.98, 0=1.21)
calExp
- x= 5684 0=1.67)
s Residual*s
== Trace

pfsArm
= (x=61.07, 0=1.19) 1

calExp
= (x=61.06, 0=1.57)
e Residual*s

=, Trace

Y=1204 (dx=9.3e-02, do=3.2e-01)

pfsArm
- = (x=7022, 0=120) 1

calExj
_(x= 7032 0=1.53)
= Residual*5
w— Trace

Y=1445 (dx=-1.3e-01, do=3.8e-01)
¥ T =]

pfsArm
— (x=72.42,0=122)

calExp
— (x=72.29, 0=1.59)
= Residual*5

w— Trace

r . __._

Y=2409 (dx=-1.7e-01, do=3.4e-01)

pfsArm
= (x=77.07, 0=1.23)

calExp
—(x=76.66, 0=1.77)
= Residual*5

w— | Trace

pfsArm
= (x=77.79, 0=1.34)

calExp
—(x=77.63, 0=1.68)
e Residual*5
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Y=3132 (dx=-2.4e-01, do=4.3e-01)

Y= 3373 dx—-8 Oe- 01 do=3.7e- 02)

pfsArm pfsArm
1 = (x=78.43, 0=1.32) I = (x=77.74, 0=1.35)
calExp calEx|
= (x=78.19, 0=1.75) "3 o= 75 94, 0=1.39)
= Residual*5 = Residual*5
1 - Trace 1 - Trace
= —— — I o — — n — - — ——
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- pfsArm T
= (x=64.54, 0=1.23) 1
calExp
= (x=64.38, 0=1.54)
= m—Residual*5
== Trace

Y=963 (dx=8.7e-02, do=3.2e-01)

== Trace
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= (x=67.59, 0=121) 1

calExp. l
- (x= o 68, 0=1.53)

e Residual*5
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= (x=74.30, 0=121)
calExp
— (x=74.29, 0=1.49)
== Residual*5
= Trace

Y=1927 (dx=-4.5e-01, do=4.0e-01)

I pfsArm
1 - (x=75.77, 0=125)

calExp
= (x=75.32, 0=1.66)
e Residual*5

= Trace
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= Trace
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f=649, X=65.9

Y=240 (dx=-1.1e-01, do=5.8e-01) Y=481 (dx=-8.2e-01, do=2.8e-01) Y=722 (dx=6.5e-02, do=3.7e-01) Y=963 (dx=-1.2e+00, do=1.7e-01)
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= Trace
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= Trace
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